MACHA GIRLS SECONDARY SCHOOL

MIDDLE TERM TEST PHISICS – Grade 10.5

NAME:______________________________________                                Date: 15.10.2009

                                                                                                                           Mr. N. Kubach

Please read first all the questions and use your posibility to ask for obscurities. After this short stage you have 120 minutes to solve all problems and to write your name on every single used sheet icluding this one. Write your solutions only on the you given paper and underline your results. Multiple calculating ways and answers can not be accepted. Everything has to be written with a pen. For your work the only required equiptments are a calculator, a pen and a ruler. Nothing else is allowed on your table! You are not permitted to talk! If you are stuck you can use the helping results, but you must write this in front of the task!

1. Given that a cuboid of wood has a length of 10 cm, a bredth of 5cm and a width of 4cm. The density of the wood is 
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1.1 What is the mass of the wood? Express your result in gramms (g).                 (   /3)

              (help result: 2,35kg)

1.2 Your teacher Mr. Kubach gives you the task to confirm your calculated mass by measuring the wood on a tripple beam balance. Explain exactly, how you would do this measurement and mention at least three mistakes, which can happen during the measurement                                                                                                     (   /4)

1.3 What is the relative density of this wood? (   /3)

1.4 Chanda is again very naughty and want’s to fool Mr. Kubach by making a hole in the wood. How could you now find the new volume of the wood. Explain.         (   /2)

1.5 Would the hole change the density of the wood? Explain your answer.           (   /1)

1.6 If the mass of the abstract piece of wood (the piece which has been taken 

      out through the hole) has a mass of 145g, what would be the weight of 

       the wood with the hole on the earth?                                                              (   /2)

1.7 Explain why the weight would be slightly diffrent at the north pole 

       and the equator.                                                                                                 (   /1)

2. Explain what the centre of mass is.                                                                    (   /2)

3. Given that on the mars the chain of Munalula has a weight of 3,2N.

3.1 What weight would the chain have on the earth? 

       (helping result: mass=820000mg)                                                                     (   /2)

3.2 Mirriam borrows the chain and unfortunately she drops it in her glas filled with 138cm³ of coke. Suddenly the fillinglevel rises upto 192cm³. After this accident Munalula is allthogh happy, because she now knows, what density her chain has. Calculate the density like Manalula did it. (helping result: volume = 53cm³)   (   /3)

3.3 Manalula recieves a very nice present: she gets the exact same chaine in gold. Thogh gold has a density of 19,3
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, the weight on the mars also increases. How much would the increase of the weight on the moon be?                                            (   /3)

3.4 Explain why a bigger density is under same conditions responsible for a greater mass and a bigger weight.                                                                                            (   /2)         

· density of water = 
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· gravity on mars = 3,72
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· gravity on earth = 10
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CONCENTRATE, DON’T CHEAT, TAKE A DEAP BREATH AND (
MUCH SUCCESS!!!
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